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QUESTION 1

A workstation is being configured on the management VLAN (10.150.140.0/24) to connect to VxRail Manager for first
time deployment.

Configuring which IP addresses on the workstation will result in a successful deployment without having to change them
during initialization?

A. 192.168.1.199 and 10.150.140.100
B. 192.168.1.250 and 10.150.140.255
C. 192.168.10.199 and 10.150.140.255
D. 192.168.10.250 and 10.150.140.250

Correct Answer: A

QUESTION 2

You have been assigned to perform a hardware installation of three G560 nodes in a 4-post rack However, only static
rails are included with this shipment.

What is the best way to proceed?

A. Order sliding rails, since these are required for the installation

B. You cannot proceed because these nodes cannot be installed in 4-dost rack
C. Install cable management arms in the rack

D. Proceed directly because these nodes can be installed in a 4 post rack

Correct Answer: D

QUESTION 3

In a VxRail Stretched Cluster built from eight all-flash nodes, what should be the recommended storage policy to ensure
the highest possible protection?

A. Raid-1(Mirroring) FTT=1
B. Raid-1(Mirroring) FTT=2
C. Raid-5/6(Erasure Coding) FTT=1

D. Raid-5/6(Erasure Coding) FTT=2
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Correct Answer: B

QUESTION 4

You are asked to cable up a VxRail G Series cluster to a redundant pair of 1/10G switches. What is the cabling best
practice for this configuration?

A. Cable ports 1 and 2 to oneswitch. Cable ports 3 and 4 to the other switch.

B. Cable ports 1 and 2 to one switch. Cable ports 3 and 4 to the other switch. Cable BMC from node 1 and 2 to one
switch. Cable BMC from node 3 and 4 to the other switch.

C. Cable ports 1 and 3 to one switch. Cable ports 2 and 4 to the other switch.

D. Cable ports 1 and 3 to one switch. Cable ports 2 and 4 to the other switch. Cable BMC from node 1 and 3 to one
switch. Cable BMC from node 2 and 4 to the other switch.

Correct Answer: D

QUESTION 5

What is a requirement for the Top of Rack (ToR) switches used in a VxRail implementation?
A. MLD Querier

B. EtherChannel

C. IPV4 and IPV6 Multicast

D. LACP

Correct Answer: C
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